
MTH 119W Name:
Line Worksheet #2
Conversion: Slope-Intercept ↔ Standard Form

1. Convert from slope-intercept form to standard from. Use two steps (or less).

(a) y =
1

2
x− 4 −→ −1

2
x+ y = −4 −→ x− 2y = 8

(b) y = 3x+ 1 −→ −→

(c) y = −2

3
x− 2 −→ −→

(d) y =
7

3
x+

4

3
−→ −→

(e) y = 4x+
9

4
−→ −→

(f) y = −11

5
x+

6

5
−→ −→

(g) y = −3

8
x+

1

4
−→ −→

(h) y =
3

5
x− 5

3
−→ −→

2. Convert from standard form to slope-intercept from. Use two steps (or less).

(a) x− 4y = 2 −→ −4y = −x+ 2 −→ y =
1

4
x− 1

2

(b) 2x− y = 1 −→ −→

(c) 3x+ 4y = 5 −→ −→

(d) 2x− 7y = −14 −→ −→

(e) 3x− 5y = 10 −→ −→

(f) 7x+ y = −3 −→ −→

(g) x+ 5y = 2 −→ −→

(h) 6x− 4y = 12 −→ −→


